32

1 20Km
2011 4 20 10 00
( )
b _
. 0 g () = - c=b-a
31 30k 2011/3/23 11:43 2011/4/18 9:50 8101 ™ 2011/4/19 10:22 8300 ™ 24 32 6.1 Sv/ 19“;
32 30k 2011/3/23 12:14 2011/4/18 10:16 18450 ™ 2011/4/19 10:45 18940 ™ 24 29 (200 Sv/ 49‘;
33 30k 2011/3/23 12:32 2011/4/18 10:28 10650 ™ 2011/4/19 10:59 10920 ™ 24 31 (110 psv/ 27‘;
34 30k 2011/3/23 13:08 2011/4/18 11:33 3888 ™ 2011/4/19 12:00 3995 ™ 24 27 (44 Sv/ 107)
38 - 2011/3/31 16:23 2011/4/17 11:34 308 ™! 2011/4/19 11:36 326" 48 02 04 sv/ 1?
71 - 2011/3/23 13:00 2011/4/17 12:51 789 ™ 2011/4/19 12:29 815 ™ 47 38 05 sv/ 2‘;
79 a0k 2011/3/23 14:09 2011/4/18 10:56 8854 ™ 2011/4/19 11:46 9124 ™ 24 50 (109 Sv/ 27(;
7 - 2011/3/23 12:06 2011/4/18 11:56 539 ™ 2011/4/19 11:52 553 "1 23 56 (06 Sv/ 1‘;
1 60k 2011/3/24 15:20 2011/4/18 15:47 654 ™ 2011/4/19 15:15 673 ™ 23 28 08 sv/ 13
15 - 2011/3/24 10:58 2011/4/18 10:40 901 ™ 2011/4/19 11:36 929 ™! 24 56 (L1 psv/ Zi
84 20k 2011/3/25 10:40 2011/4/17 9:52 118 ™ 2011/4/19 9:56 126 ™ 48 04 02 usv/ E;
39 a5k 2011/4/1 10:45 2011/4/18 10:41 282 2011/4/19 10:23 295 1 23 42 05 sv/ 13;
76 0k 2011/4/2 11:35 2011/4/17 10:43 178 ™ 2011/4/19 10:46 197 48 03 04 sv/ 19;
80 - 2011/4/3 11:56 2011/4/18 12:24 199 ™ 2011/4/19 12:10 210 23 46 05 sv/ 11)
21 a0k 2011/4/8 13:18 2011/4/18 12:09 838 ™ 2011/4/19 12:42 923" 24 33 85
m (3.5 paSv/ )
c/z
0.0
12 5 24 1 20km 2011 4 10 22
1-2 . (http://www.nsc.go.jp/anzen/shidai/genan2011/genan022/siryol-2.pdf)
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